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In these questions you must choose one word 

from the top line and one word from the bottom 

line that you think are the most opposite in 

meaning. 

 

Example 

 

(high   right  trust) 

(left   write   verify) 

 

Answer = right   left 

 

Question 1 

 

(relaxed   tepid   manor) 

(grasp   tents tense) 

 

Question 2 

 

(sane    fortunate   wealth) 

(unlucky   loose   recline) 

 

Question 3 

(new   gust   loathe) 

(perfect   hope   vintage) 

 

 

Question 4 

(jingle   stuff  drunk) 

(item   sober   bells) 

 

 

Question 5 

 

(smart   intelligent   opinion) 

(thought   scruffy   formula) 

 

Question 6 

 

(opaque   opinion   alternate) 

(transparent   cover   hesitate) 

 

Question 7 

(nurture   build   accept) 

(reject   mope   further) 

 

In these questions you must decide which 

number comes next in the sequence. 

 

Example 

 

3   6   9   12  15  (?) 

 

Answer = 18 

 

Question 8 

 

3   9   18   54   108   (?) 

 

Question 9 

 

97   91   85   79   73   (?) 

 

Question 10 

 

27   19   38   30  (?) 

 

Question 11 

 

42   50   57   63   68   72   (?) 

 

Question 12 

 

15   3   30   6   60   12 (?) 

 

Question 13 

 

 69   64   60   57   52   48   (?) 

 

Question 14 

 

 46   50   58   70   86   106   (?) 

 

Question 15 

 

Chris’s brother Joe is twice as old as Chris was 6 

years ago. If Chris is now 10 how old will Joe be 

in five years? 
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In these questions you must choose two words 

from the five words that you think are the odd 

ones out. 

 

Example 

 

arm   leg   human   tongue   person 

 

Answer = human   person 

 

 

Question 16 

 

container   vessel   tub   water   ship 

 

Question 17 

 

immortal   mortal   everlasting   death  eternal 

 

Question 18 

 

funeral   tomb    crypt   grave   serious   

 

Question 19 

 

gears    engine   tyres   tires   road 

 

Question 20 

 

rein   horse    reign   monarch  rain 

 

Question 21 

 

prove   halt    cease   retreat   conclude  

 

Question 22 

 

twine   floss   string   chain   knot 

 

In these questions you must work out how to 

make the number in the middle of the brackets 

by using the numbers on each side. 

 

Example 

 

2  (12)  6      14  (28)  2      12   (?)   3 

 

Answer = 36   

 

 

Question 23 

 

13  (40)  27     52   (123)  71      41  (?)  26        

 

 

Question 24 

 

 64   (32)  4      99  (18)  11      56  (?)  8       

 

 

Question 25 

 

 107 (90)  17      34  (28)  6      45  (?)  27        

 

 

Question 26 

 

 105  (81)  12      71   (27)  22      15  (?)  7        

 

 

Question 27 

 

14  (52)  12      16  (90)  29      31  (?)  42        

 

 

Question 28 

 

 144   (36)  4      72  (8)  9      96  (?)  8        

 

 

Question 29 

 

 28  (2)  10     38   (3)  11      67  (?)  22        
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In these questions you must choose the words 

that best complete the sentences. 

 

Example 

 

man is to (woman   human   boy) 

as girl is to (child   boy   female) 

 

Answer = woman   boy 

 

Question 30 

 

verdict is to  (conclusion   court   version) 

as vintage is to  (wine   car   old) 

 

Question 31 

 

boxer is to  (package   gloves   ring) 

as sprinter is to  (shoes   rapid   track) 

 

Question 32 

 

reveal is to  (conceal   reverse   show) 

as begin is to  (beg   conclude   repeat) 

 

Question 33 

 

pea is to  (vegetable   green  ape) 

as ink is to  (pen   kin   write) 

 

Question 34 

 

egg is to  (shell   chicken   Easter) 

as banana is to  (peel   skin   meat) 

 

Question 35 

 

coffee is to  (bitter   cup   beans) 

as wine is to  (water   grapes   glass) 

 

Question 36 

 

mushroom is to  (fungus   forest   insect) 

as rhubarb is to  (crumble   fruit   vegetable) 

 

ABCDEFGHIJKLMNOPQRSTUVWXYZ 

 

In these questions you must decide which two 

letters come next in the sequence 

 

Example 

 

AB is to CD  

As EF is to (??) 

 

Answer = GH 

 

Question 37 

 

CA is to EC  

as KD is to (??) 

 

Question 38 

 

XV is to CE  

as HO is to (??) 

 

Question 39 

 

TN is to XJ 

as AZ is to (??) 

 

Question 40 

 

RE is to UI 

as MN is to (??) 

 

Question 41 

 

UB is to YX 

as YC is to (??) 

 

Question 42 

 

EN is to CP 

as IB is to (??) 

 

Question 43 

 

LR is to QW  

as FK is to (??) 
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In these questions you must choose the words 

that are most similar in meaning to the words in 

brackets 

 

Example  

 

(even   equal) 

(amusements   circus) 

 

Answer = fair 

 

Question 44 

 

(attack   hit) 

(gust   gale)  

 

Question 45 

 

(final   ending)   

(verdict   decision) 

 

Question 46 

 

(apartment   condo) 

(level   equal)  

 

Question 47 

 

(diet  starve)  

(quick  rapid) 

 

Question 48 

 

(harbour   marina)   

(sherry   whisky) 

 

Question 49 

 

(need  desire)   

(distant  far) 

 

Question 50 

 

(shrub   bush)   

(sow   bury) 

 

In these questions you must decide how the word 

in brackets has been made from the word on 

either side.  You must use this pattern to 

complete the word in the brackets underneath. 

 

Example 

 

(grades  read)   (urchin   rich)   (whales   ????) 

 

Answer = heal 

 

Question 51 

 

(violet   vote)   (raised   ride)   (moaned   ????) 

 

Question 52 

 

(master   mats)   (jester   jets)   (hasten   ????) 

 

Question 53 

 

(thrill   till)   (latest   less)   (family   ????) 

 

Question 54 

 

(branch   arch)   (grants   arts)   (banish   ????) 

 

Question 55 

 

(stream   mate)    (united   dent)   (hasten   ????) 

 

Question 56 

 

(tandem  made)  (yoghurt  tour)   (moaned  ????) 

 

Question 57 

 

(driver   dive)   (raised   rise)   (places   ????) 

 

Question 58 

 

(stream   teat)   (string   tint)   (attend   ????) 
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In the questions the letters stand for numbers.  

Work out the answer to each sum and then mark 

the answer as a letter on the answer sheet. 

 

Example 

 

If A= 1 B = 2 C = 3 D = 5 = E = 6 

What is A + B + C = (?)    Answer = E 

 

Question 59 

 

If A = 7  B = 21  C = 12   D =  28  E = 4 

What is C ÷ E x A? 

 

Question 60 

 

If A = 13  B = 45  C = 27  D =  9 E = 31 

What is B – C + A? 

 

Question 61 

 

If A = 39  B =  32 C =  23 D = 11  E = 27 

What is  B + C + D – E? 

 

Question 62 

 

If A =  42 B =  30   C = 47 D = 12  E = 6 

What is D x  E – A ? 

 

Question 63 

 

If A = 4 B =  54  C = 8 D = 7 E = 52 

What is C x D + A – C ? 

 

Question 64 

 

If A = 16  B = 14  C =  4 D = 22  E = 2 

What is A ÷ C x E + B? 

 

Question 65 

 

If A = 13  B =  19 C = 12  D =  2 E = 4 

What is  C x D ÷ E + A? 

 

 

In the following questions you must take one 

letter out of the word on the left and add it to the 

word on the right.   You must not change the 

order of the letters and the two words must make 

sense.  Mark the answer on the answer sheet. 

 

Example 

 

ready   awning   

 

Answer = y    

 

 

Question 66 

 

tread   stun 

 

Question 67 

 

point   men 

 

Question 68 

 

slink   gut 

 

Question 69 

 

teach   moor 

 

Question 70 

 

claim  pant 

 

Question 71 

 

curve  inert 

 

Question 72 

 

float   saps 

 

Question 73 

 

What day was it three days ago if two days after 

tomorrow it is Saturday? 
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In these questions you must decide which two 

words are the most similar in meaning.  You 

must choose one from the top row and one from 

the bottom row. 

 

Example 
 

(objective   item   piece) 

(lesson   aim   peace) 
 

Answer = objective   aim 

 

Question 74 

 

(grip   veto   hard)   

(rigid   lease  loose)  

 

Question 75 

 

(vanish   varnish   vanquish) 

(desperate   disappear   determine) 

 

Question 76 

 

(hinder   grouch   termly) 

(delay   growth   hurt) 

 

Question 77 

 

(purpose   object   item) 

(oppose   accident   cloth) 

 

Question 78 

 

(tepid   conclusion   deliberate) 

(anger  think   futile) 

 

Question 79 
 

(thaw   thought   thistle) 

(defrost   eager   contend) 

 

Question 80 

 

(contest   contour   consider) 

(complicate   competition   contrast) 

 


